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NC11 P3-15
2025-06-02 (Day 63)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 1 I I I I
3500 —>— EcFzExp :
2000 | ¢ ECdef !

—>— water_ec |
F800000000000000000000000000000000000004098K
2500 E ,
W
2000 !
1
1
1500 |
mooo?x( !
1
1000 I
1
Warning: col [ EcFgro’, 'EcPltng/ ] is missing

500

50

100

125 150 175




Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’,

"FVIEC

ir—o', "ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15

BYiE) | GEBATIK () | EBE (EA/#) | EREE(B/R) | XS ERE

07:35 294 150.0 2. 888 RS FiHRe07:35 KREEF (REAEHSE)
08:25 294 150.0 2.888 B5| FnHA@08:25 KENFEF (KREEEE)
09:35 294 150.0 2.888 BE| FiHA@09:35 RENFEF (REAERHE)
10:30 294 150. 0 2.888 R5| FiHA@10:30 FEFEF (KREAEESR)
11:20 294 150.0 2.888 R5| TiHAe11:20 KRHERF CRAEHS)
12:05 294 150.0 2.888 B ThHA@12:05 KENFEF (RA{EREEE)
12:50 294 150.0 2. 888 RS ThHAe12:50 KENFEF (KAHEEE)
13:35 294 150.0 2. 888 R5| TiHAe13:35 KRHIERF (RAEHS)
14:25 294 150.0 2.888 B ThHA@14:25 KENFEF (RAA{EEEE)
15:20 294 150.0 2. 888 RS FhHAe15:20 KEIEF (CRAFEERE)
16:25 294 150.0 2. 888 B FHRe16:25 REIEF (REAERSE)
23] 3234.0 (11)%) 1650.0 333 %EC: 2080.0, PH: 5.6

[@&EC 5690.0 K5, EiLFAKECAE&idEER
HEEKECE (1907.0 vs 5690.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=63 (2025-06—02)
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P3-15

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

09:50 288 150.0 2.888 |Z=| {Ri%e09:50 Bz (KREERHE)
11:00 288 150.0 2.888 FA| {Ri&e11:00 Bzl CGkAEREEE)
12:00 288 150.0 2.888 FA| {Ri&@12:00 Bz (RAEEE)
13:00 288 150.0 2. 888 FE| 1BRi%@13:00 B3 (kAERSE)
14:25 288 150.0 2.888 FA| {Ri&e14:25 Bzl CGRAEREE)
16:05 288 150.0 2.888 FH| 1Ri%@16:05 B3h (KAERSE)
24t 1728.0 (6%) 900. 0 3ESHKEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

[E;KEC 6290.0 K5, i FHAKECAE & hikER
HEEIHECE (2007.0 vs 6290.0) 5

144.0), FlEEHT—R % XA HS




P3-15_0, Day=62 (2025-06-01)
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P3-15

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

06:30 283 150.0 2.888 FE| 1BRi%@06:30 B (kAERSE)
07:30 283 150.0 2.888 FH| 1Bi&@07:30 Bah (KRAMEREE)
08:30 283 150.0 2.888 FA| 1Ri&@08:30 Bz (KAL)
09:30 283 150.0 2. 888 FA| {RRi&@09:30 Bz (RA{EEE)
10:30 283 150.0 2.888 FB| {Ri&@10:30 B3 (FAFERSE)
11:35 283 150.0 2.888 FA| {Ri&e11:35 Bzl CGRAEEE)
13:30 283 150.0 2.888 | KM| {Ri%e13:30 Bz (KREAEZHE)
29t]1981.0 (70%) 1050. 0 3ZHKEC: 2080.0, PH: 5.5

TERRHLER 2 STEEART (187.0 :

ZRIAKFREBRE153. 0 ml.
large discrepency for begining water status (305:27.0), set to 305 ml.

Ei&PH (7.17) /&

[E&EC 6737.0 K&, EINFAIKECAE&idEE R
7 [ERECE (2087.0 vs 6737.0) 145

153.0), AlEEHT—@ L XA HS




P3-15_0, Day=61 (2025-05-31)
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optPH0=6. 5, setPHB=5.5

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-15

BYiE) | GEREK G | Ele (EA/E) | EREE B/ R | X8R SRR

07:00 283 150.0 2.888 RS {Ri&@07:00 Bzl (REAEHE)
07:40 283 150.0 2. 888 BE| 1Ri%e07:40 B3 (RF{EREE)
08:20 283 150.0 2.888 S| {Ri&e08:20 B (REAEEE)
09:15 283 150.0 2.888 |Z=| {Ri%e09:15 Bz (KREAEZEHE)
10:05 283 150.0 2.888 |Z=| {Ri%e10:05 Bz (KREAEHE)
10:55 283 150.0 2.888 [ =| 1Rige10:55 Bz (kAZHE)
11:45 283 150.0 2.888 |Z=| {Riget11:45 Bz (REAEHE)
12:30 283 150.0 2.888 |Z=| {Ri&e12:30 Bz (KREAEHE)
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15:40 283 150.0 2.888 BE| Rige15:40 Ba (REAEHSE)
16:40 283 150.0 2.888 |Z=| {Ri%e16:40 Bz (KREAEZEHE)
213t 3962.0 (14)%) 2100.0 3ZUHIKEC: 2080.0, PH: 5.5

TERRHLER 2 STEIEARTF (184.0 :

ZRIALBRIERE150. 0 ml.

150.0), FAEEHT—@ % XA HS

large discrepency for begining water status (278:30.0), set to 278 ml.

Ei%PH (7.33) /RS

[E&EC 6607.0 K&, EiLFAKECAE&idEER
FHERECE (2323.0 vs 6607.0) 145
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